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QUESTION 1

The XML language is expressed through the use of: Select the correct answer. 

A. elements or tags 

B. databases or repositories 

C. services or components 

D. service compositions or orchestrations 

Correct Answer: A 

 

QUESTION 2

Which of the following statements makes sense? Select the correct answer. 

A. I created a WS-BPEL process definition that composes 6 SOAP-based Web services, 2 of which also invoke other
SOAP-based Web Services. 

B. I created a WS-BPEL process definition that establishes industry standard routing-related SOAP headers capable of
routing six messages. 

C. I created a WS-BPEL process definition that establishes an industry standard framework for issuing positive and
negative acknowledgements. 

D. None of these statements make sense. 

Correct Answer: ABD 

 

QUESTION 3

Identify what is wrong with this statement: "If I have 4 SOAP-based Web services, I must have 4 WSDL definitions and
4 XML schemas." Select the correct answer. 

A. SOAP-based Web services don\\'t use XML schemas for their WSDL definitions. 

B. WSDL definitions can share the same XML schema and can also link to multiple XML schemas, so stating that 4
SOAP-based Web services must have 4 XML schemas is incorrect. 

C. Each WSDL definition must have at least 2 XML schemas, so the correct amount of required XML schemas in this
case is 8. 

D. There is nothing wrong with this statement. 

Correct Answer: B 

 

QUESTION 4
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WS-BPEL process definitions can be encapsulated by and exposed as SOAP-based Web services. Select the correct
answer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 5

An XML schema can be used to define XML documents that can be shared by components, SOAP- based Web
services, and REST services. Select the correct answer. 

A. True 

B. False 

Correct Answer: A 
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